PRODUCTION ORDER

101428 ERDOS

AW25

CHINTI & PARKER

E: info@chintiandparker.com T: 02070164312 www.chintiandparker.com CHINTI AND PARKER LTD 10-11 Greenland Place 2nd floor LONDON NW1 0AP United Kingdom

Manufacturer Address:

INDUSTRIAL ZONE HANTAI DONGSHENG DISTRICT ORDOS CITY HANTAI TOWN DONGSHENG CITY, 017000 China, People's Republic Of Ship To:

Chinti and Parker Ltd, C/O Seko Logistics, High Standing, Harding Road, Brinklow, Milton Keynes, United Kingdom, MK10 0DF Docket Number: 101428

Docket Date: 19 May 2025

Docket Reference: WINTER 25 BASICS - M&S

Payment Terms: 90 DAYS FROM SHIPMENT DATE

Shipper: TOLL GROUP

Shipping Terms: FOB

Delivery From: 08 September 2025 **Delivery To:** 08 September 2025

Comments:

03.06.25 - KPS2326 12GG 90% WO / 10% WS VELVET RED REDUCED BY 120PCS 6TH AUG - EX FTY UPDATED TO 8TH SEPT

| W | AAW2312 | 12GG 90% WO / 10% WS | Delivery From | Delivery To | os | Qty | First/Make Cost | Total Cost |
|-------|-------------------|----------------------|---------------|-------------|----|-----|--------------------|-------------|
| | FINGERLESS GLOVES | CHOCOLATE | | | 60 | 60 | US\$ 7.63 | US\$ 457.80 |
| V | AAW2312 | 12GG 90% WO / 10% WS | Delivery From | Delivery To | os | Qty | First/Make Cost | Total Cost |
| | FINGERLESS GLOVES | CLARET | | | 60 | 60 | US\$ 7.63 | US\$ 457.80 |
| | AAW2312 | 12GG 90% WO / 10% WS | Delivery From | Delivery To | os | Qty | First/Make Cost | Total Cost |
| | FINGERLESS GLOVES | PINK MELANGE | | | 50 | 50 | US\$ 7.63 | US\$ 381.50 |
| Y | AAW2312 | 12GG 90% WO / 10% WS | Delivery From | Delivery To | os | Qty | First/Make Cost | Total Cost |
| | FINGERLESS GLOVES | VELVET RED | | | 60 | 60 | US\$ 7.63 | US\$ 457.80 |
| | AAW2312 | 12GG 90% WO / 10% WS | Delivery From | Delivery To | os | Qty | First/Make Cost | Total Cost |
| | FINGERLESS GLOVES | WARM OATMEAL | | | 60 | 60 | US\$ 7.63 | US\$ 457.80 |
| My My | AAW2410 | 12GG 90% WO / 10% WS | Delivery From | Delivery To | os | Qty | First/Make Cost | Total Cost |
| | GLOVES | BABY BLUE MELANGE | | | 80 | 80 | US\$ 9.19 | US\$ 735.20 |
| ** | AAW2410 | 12GG 90% WO / 10% WS | Delivery From | Delivery To | os | Qty | First/Make Cost | Total Cost |
| | GLOVES | CHOCOLATE | | | 80 | 80 | US\$ 9.19 | US\$ 735.20 |
| ** | AAW2410 | 12GG 90% WO / 10% WS | Delivery From | Delivery To | os | Qty | First/Make Cost | Total Cost |
| | GLOVES | CLARET | | | 70 | 70 | US\$ 9.19 | US\$ 643.30 |

CHINTI & PARKER

E: info@chintiandparker.com T: 02070164312 www.chintiandparker.com

| AVV25 | | | | | | | | |
|-------|---------------------|----------------------|---------------|-------------|-----|-----|--------------------|---------------|
| My My | AAW2410 | 12GG 90% WO / 10% WS | Delivery From | Delivery To | OS | Qty | First/Make Cost | Total Cost |
| | GLOVES | PINK MELANGE | | , | 50 | 50 | US\$ 9.19 | US\$ 459.50 |
| 1. | AAW2410 | 12GG 90% WO / 10% WS | Delivery From | Delivery To | os | Qty | First/Make Cost | Total Cost |
| M | GLOVES | VELVET RED | Bonvery From | Bonvory 10 | 80 | 80 | US\$ 9.19 | US\$ 735.20 |
| W W | AAW2410 | 12GG 90% WO / 10% WS | Delivery From | Delivery To | os | Qty | First/Make Cost | Total Cost |
| | GLOVES | WARM OATMEAL | 20 | Domes, 10 | 80 | 80 | US\$ 9.19 | US\$ 735.20 |
| | AAW2412 | 7GG 90% WO / 10% WS | Delivery From | Delivery To | os | Qty | First/Make Cost | Total Cost |
| | SINGLE JERSEY SCARF | BABY BLUE MELANGE | | | 100 | 100 | | US\$ 1,338.00 |
| Λ | AAW2412 | 7GG 90% WO / 10% WS | Delivery From | Delivery To | os | Qty | First/Make Cost | Total Cost |
| | SINGLE JERSEY SCARF | CHOCOLATE | | , | 80 | 80 | US\$ 13.38 | US\$ 1,070.40 |
| Λ | AAW2412 | 7GG 90% WO / 10% WS | Delivery From | Delivery To | os | Qty | First/Make Cost | Total Cost |
| | SINGLE JERSEY SCARF | CLARET | | | 80 | 80 | US\$ 13.38 | US\$ 1,070.40 |
| | AAW2412 | 7GG 90% WO / 10% WS | Delivery From | Delivery To | os | Qty | First/Make Cost | Total Cost |
| | SINGLE JERSEY SCARF | PINK MELANGE | | | 80 | 80 | US\$ 13.38 | US\$ 1,070.40 |
| Λ | AAW2412 | 7GG 90% WO / 10% WS | Delivery From | Delivery To | os | Qty | First/Make Cost | Total Cost |
| | SCARF | VELVET RED | | | 80 | 80 | US\$ 13.38 | US\$ 1,070.40 |
| | AAW2412 | 7GG 90% WO / 10% WS | Delivery From | Delivery To | os | Qty | First/Make Cost | Total Cost |
| | SINGLE JERSEY SCARF | WARM OATMEAL | | | 80 | 80 | US\$ 13.38 | US\$ 1,070.40 |
| | AAW2413 | 9GG 90% WO / 10% WS | Delivery From | Delivery To | os | Qty | First/Make Cost | Total Cost |
| SA | SOCKS | BABY BLUE MELANGE | | | 100 | 100 | US\$ 7.86 | US\$ 786.00 |
| | AAW2413 | 9GG 90% WO / 10% WS | Delivery From | Delivery To | os | Qty | First/Make Cost | Total Cost |
| 38/ | SOCKS | PINK MELANGE | | | 80 | 80 | US\$ 7.86 | US\$ 628.80 |

CHINTI & PARKER

E: info@chintiandparker.com T: 02070164312 www.chintiandparker.com

| AAW2413 | 9GG 90% WO / 10% WS | Delivery From | Delivery To | os | Qty | First/Make Cost | Total Cost |
|--------------------------|---------------------|---------------|-------------|-----|-----|--------------------|-------------|
| SOCKS | WARM OATMEAL | | | 100 | 100 | US\$ 7.86 | US\$ 786.0 |
| AAW2414 | 7GG 90% WO / 10% WS | Delivery From | Delivery To | os | Qty | First/Make Cost | Total Cost |
| BEANIE | CHOCOLATE | | | 100 | 100 | US\$ 6.41 | US\$ 641.0 |
| AAW2414 | 7GG 90% WO / 10% WS | Delivery From | Delivery To | os | Qty | First/Make Cost | Total Cost |
| BEANIE | VELVET RED | Bolivery From | Bollvery 10 | 50 | 50 | US\$ 6.41 | US\$ 320.50 |
| AAW2415 | 7GG 90% WO / 10% WS | Delivery From | Delivery To | os | Qty | First/Make Cost | Total Cost |
| BALACLAVA | CHOCOLATE | Delivery From | Delivery 10 | 40 | 40 | US\$ 11.28 | |
| AAW2415 | 7GG 90% WO / 10% WS | Delivery From | Delivery To | os | Qty | First/Make Cost | Total Cost |
| BALACLAVA | CLARET | Delivery From | Delivery 10 | 40 | 40 | US\$ 11.28 | US\$ 451.20 |
| AAW2506 | 7GG 90% WO / 10% WS | Delivery From | Delivery To | os | Qty | First/Make Cost | Total Cost |
| RIBBED FINGERLESS GLOVES | BABY BLUE MELANGE | | | 50 | 50 | US\$ 8.53 | US\$ 426.50 |
| AAW2506 | 7GG 90% WO / 10% WS | Delivery From | Delivery To | os | Qty | First/Make Cost | Total Cost |
| RIBBED FINGERLESS GLOVES | BLACK | , | , | 50 | 50 | US\$ 8.53 | US\$ 426.5 |
| AAW2506 | 7GG 90% WO / 10% WS | Delivery From | Delivery To | os | Qty | First/Make Cost | Total Cost |
| RIBBED FINGERLESS GLOVES | GREY | | | 60 | 60 | US\$ 8.53 | US\$ 511.80 |
| AAW2507 | 3GG 90% WO / 10% WS | Delivery From | Delivery To | os | Qty | First/Make Cost | Total Cost |
| RIBBED HAT | BABY BLUE MELANGE | | | 100 | 100 | US\$ 8.05 | US\$ 805.00 |
| AAW2507 | 3GG 90% WO / 10% WS | Delivery From | Delivery To | os | Qty | First/Make Cost | Total Cost |
| RIBBED HAT | BLACK | | | 60 | 60 | US\$ 8.05 | US\$ 483.00 |
| AAW2507 | 3GG 90% WO / 10% WS | Delivery From | Delivery To | os | Qty | First/Make Cost | Total Cost |
| RIBBED HAT | CLARET | | | 100 | 100 | US\$ 8.05 | US\$ 805.00 |

CHINTI & PARKER

E: info@chintiandparker.com T: 02070164312 www.chintiandparker.com

| j | | | | | | | | | | | | |
|-----------------------|----------------------|---------------|-------------|-----|----|----|----|----|----|-----|--------------------|------------|
| AAW2507 | 3GG 90% WO / 10% WS | Delivery From | Delivery To | os | | | | | | Qty | First/Make Cost | Total Cos |
| RIBBED HAT | GREY | | | 100 | | | | | | 100 | US\$ 8.05 | US\$ 805.0 |
| AAW2507 | 3GG 90% WO / 10% WS | Delivery From | Delivery To | os | | | | | | Qty | First/Make Cost | Total Cos |
| RIBBED HAT | PINK MELANGE | , | | 80 | | | | | | 80 | US\$ 8.05 | US\$ 644. |
| AAW2507 | 3GG 90% WO / 10% WS | Delivery From | Delivery To | os | | | | | | Qty | First/Make Cost | Total Co |
| RIBBED HAT | WARM OATMEAL | | , | 100 | | | | | | 100 | US\$ 8.05 | US\$ 805. |
| AAW2508 | 3GG 90% WO / 10% WS | Delivery From | Delivery To | os | | | | | | Qty | First/Make Cost | Total Co |
| SNOOD | BLACK | | - | 40 | | | | | | 40 | US\$ 10.61 | US\$ 424. |
| AAW2508 | 3GG 90% WO / 10% WS | Delivery From | Delivery To | os | | | | | | Qty | First/Make Cost | Total Co |
| SNOOD | CLARET | | | 40 | | | | | | 40 | US\$ 10.61 | US\$ 424. |
| AAW2508 | 3GG 90% WO / 10% WS | Delivery From | Delivery To | os | | | | | | Qty | First/Make Cost | Total Co |
| SNOOD | PINK MELANGE | | | 40 | | | | | | 40 | US\$ 10.61 | US\$ 424. |
| KAW2446 | 12GG 90% WO / 10% WS | Delivery From | Delivery To | xs | s | М | L | LL | 3L | Qty | First/Make Cost | Total Co |
| SHORT ROLL NECK DRESS | CLARET | | | - | 17 | 20 | 15 | 14 | 9 | 75 | US\$ 29.09 | US\$ 2,18 |
| KAW2449 | 12GG 90% WO / 10% WS | Delivery From | Delivery To | XS | S | М | L | LL | 3L | Qty | First/Make Cost | Total Co |
| COLLARED SWEATER | BLACK | | | - | 15 | 21 | 18 | 14 | 12 | 80 | US\$ 19.05 | US\$ 1,52 |
| KAW2449 | 12GG 90% WO / 10% WS | Delivery From | Delivery To | xs | S | М | L | LL | 3L | Qty | First/Make Cost | Total Co |
| COLLARED SWEATER | NAVY | | | - | 10 | 13 | 11 | 9 | 7 | 50 | US\$ 19.05 | US\$ 952. |
| KAW2449 | 12GG 90% WO / 10% WS | Delivery From | Delivery To | xs | s | М | L | LL | 3L | Qty | First/Make Cost | Total Co |
| COLLARED SWEATER | OLIVE | | | - | 21 | 24 | 19 | 14 | 12 | 90 | US\$ 19.05 | US\$ 1,714 |
| KAW2449 | 12GG 90% WO / 10% WS | Delivery From | Delivery To | xs | s | М | L | LL | 3L | Qty | First/Make Cost | Total Co |
| COLLARED SWEATER | TEAL AW25 | | | - | 14 | 25 | 23 | 15 | 13 | 90 | US\$ 19.05 | US\$ 1,714 |

CHINTI & PARKER

E: info@chintiandparker.com T: 02070164312 www.chintiandparker.com

| KAW2451 | 12GG 90% WO / 10% WS | Dolivon, Franc | Dolivery Te | XS | S | М | L | LL | 3L | Ott | First/Make Cost | Total Cost |
|-----------------------|----------------------|----------------|-------------|----|----|----|----|----|----|-------------------|--------------------|--------------|
| CREW NECK CARDIGAN | BONE | Delivery From | Delivery To | 79 | 39 | 44 | 35 | 23 | 9 | Qty 150 | | US\$ 3,142. |
| ONEW MEDIC OF MEDICAL | BONE | | | | | | | 20 | | 100 | σσφ 20.00 | 000 0,142. |
| KAW2451 | 12GG 90% WO / 10% WS | Delivery From | Delivery To | XS | S | М | L | LL | 3L | Qty | First/Make Cost | Total Cos |
| CREW NECK CARDIGAN | CLARET | , | j | - | 39 | 44 | 35 | 21 | 11 | 150 | US\$ 20.95 | US\$ 3,142. |
| KAW2451 | 12GG 90% WO / 10% WS | Delivery From | Delivery To | XS | s | М | L | LL | 3L | Qty | First/Make Cost | Total Cos |
| CREW NECK CARDIGAN | HOT PINK | Bonvory From | Benvery 10 | - | 8 | 9 | 7 | 4 | 2 | 30 | US\$ 20.95 | |
| KAW2451 | 12GG 90% WO / 10% WS | Delivery From | Delivery To | XS | s | М | L | LL | 3L | Qty | First/Make Cost | Total Cos |
| CREW NECK CARDIGAN | VELVET RED | Delivery From | Delivery 10 | - | 36 | 40 | 32 | 21 | 11 | 140 | | US\$ 2,933. |
| KAW2453 | 12GG 90% WO / 10% WS | Delivery From | Delivery To | XS | s | М | L | LL | 3L | Othy | First/Make Cost | Total Cost |
| MIDI SKIRT | CLARET | Delivery From | Delivery 10 | - | 46 | 55 | 45 | 19 | 15 | Qty 180 | | US\$ 3,778.2 |
| KAW2453 | 12GG 90% WO / 10% WS | Delivery From | Delivery To | XS | s | М | L | LL | 3L | Qty | First/Make Cost | Total Cos |
| MIDI SKIRT | GREY | Delivery From | Delivery 10 | - | 26 | 31 | 25 | 11 | 7 | 100 | | US\$ 2,099. |
| KAW2453 | 12GG 90% WO / 10% WS | Delivery From | Delivery To | XS | s | М | L | LL | 3L | Qty | First/Make Cost | Total Cos |
| MIDI SKIRT | NAVY | Belivery From | Delivery 10 | - | 31 | 37 | 30 | 13 | 9 | 120 | | US\$ 2,518. |
| KAW2453 | 12GG 90% WO / 10% WS | Delivery From | Delivery To | XS | s | М | L | LL | 3L | Qty | First/Make Cost | Total Cos |
| MIDI SKIRT | OLIVE | Belivery From | Delivery 10 | - | 24 | 27 | 23 | 10 | 6 | 90 | | US\$ 1,889 |
| KAW2454 | 12GG 90% WO / 10% WS | Delivery From | Delivery To | XS | s | М | L | LL | 3L | Qty | First/Make Cost | Total Cos |
| MINI SKATER SKIRT | BLACK | Donvery From | Bollvery 10 | - | 27 | 38 | 30 | 14 | 11 | 120 | | US\$ 1,882 |
| KAW2454 | 12GG 90% WO / 10% WS | Delivery From | Delivery To | XS | s | М | L | LL | 3L | Qty | First/Make Cost | Total Cos |
| MINI SKATER SKIRT | CHOCOLATE | | , | - | 29 | 45 | 30 | 8 | 8 | 120 | US\$ 15.69 | US\$ 1,882 |
| KAW2454 | 12GG 90% WO / 10% WS | Delivery From | Delivery To | XS | s | М | L | LL | 3L | Qty | First/Make Cost | Total Cos |
| MINI SKATER SKIRT | NAVY | | , | - | 19 | 29 | 21 | 6 | 5 | 80 | | US\$ 1,255. |

CHINTI & PARKER

E: info@chintiandparker.com T: 02070164312 www.chintiandparker.com CHINTI AND PARKER LTD 10-11 Greenland Place 2nd floor LONDON NW1 0AP United Kingdom

| KAW2455 | 12GG 90% WO / 10% WS | Delivery From | Delivery To | XS | s | М | L | LL | 3L | Qty | First/Make Cost | Total Cost |
|--------------------------|----------------------|-------------------|-------------|----|----|----|----|----|----|-----|--------------------|-------------|
| MIDI ROLL NECK DRESS | CHOCOLATE | | | - | 13 | 17 | 20 | 11 | 14 | 75 | US\$ 32.89 | US\$ 2,466. |
| KAW2455 | 12GG 90% WO / 10% WS | Delivery From | Delivery To | XS | s | М | L | LL | 3L | Qty | First/Make Cost | Total Cos |
| ROLL NECK DRESS | GREY | 20.110.1, 1.10.11 | Delitery to | - | 8 | 12 | 13 | 9 | 8 | 50 | | US\$ 1,644. |
| KAW2455 | 12GG 90% WO / 10% WS | Delivery From | Delivery To | XS | s | М | L | LL | 3L | Qty | First/Make Cost | Total Cos |
| MIDI ROLL NECK DRESS | WARM OATMEAL | Bolivery From | Donvery 10 | | 13 | 17 | 20 | 11 | 14 | 75 | | US\$ 2,466 |
| KAW25121 | 12GG 90% WO / 10% WS | Delivery From | Delivery To | XS | S | М | L | LL | 3L | Qty | First/Make Cost | Total Cos |
| RIBBED V NECK SWEATER | BLACK | Delivery From | Delivery 10 | - | 35 | 41 | 38 | 18 | 18 | 150 | | US\$ 2,814 |
| KAW25121 | 12GG 90% WO / 10% WS | Delivery From | Delivery To | XS | S | М | L | LL | 3L | Qty | First/Make Cost | Total Cos |
| RIBBED V NECK SWEATER | CLARET | 25 | Daniely 10 | - | 27 | 50 | 45 | 28 | 30 | 180 | | US\$ 3,376. |
| KAW25121 | 12GG 90% WO / 10% WS | Delivery From | Delivery To | XS | s | М | L | LL | 3L | Qty | First/Make Cost | Total Co |
| RIBBED V NECK SWEATER | GREY | | | - | 23 | 41 | 38 | 24 | 24 | 150 | US\$ 18.76 | US\$ 2,814 |
| KAW25121 | 12GG 90% WO / 10% WS | Delivery From | Delivery To | XS | s | М | L | LL | 3L | Qty | First/Make Cost | Total Co |
| RIBBED V NECK SWEATER | NAVY | · | , | - | 27 | 47 | 48 | 30 | 28 | 180 | US\$ 18.76 | US\$ 3,376 |
| KAW25121 | 12GG 90% WO / 10% WS | Delivery From | Delivery To | XS | s | М | L | LL | 3L | Qty | First/Make Cost | Total Co |
| RIBBED V NECK SWEATER | OLIVE | | | - | 14 | 25 | 23 | 15 | 13 | 90 | US\$ 18.76 | US\$ 1,688 |
| KAW25121 | 12GG 90% WO / 10% WS | Delivery From | Delivery To | XS | s | М | L | LL | 3L | Qty | First/Make Cost | Total Co |
| RIBBED V NECK SWEATER | TEAL AW25 | | | - | 14 | 25 | 23 | 15 | 13 | 90 | US\$ 18.76 | US\$ 1,688 |
| KAW2519 | 12GG 90% WO / 10% WS | Delivery From | Delivery To | XS | S | М | L | LL | 3L | Qty | First/Make Cost | Total Co |
| RAGLAN ROLL NECK SWEATER | CLARET | | | - | 39 | 57 | 51 | 18 | 15 | 180 | US\$ 19.94 | US\$ 3,589 |
| KAW2519 | 12GG 90% WO / 10% WS | Delivery From | Delivery To | XS | S | М | L | LL | 3L | Qty | First/Make Cost | Total Cos |
| RAGLAN ROLL NECK SWEATER | NAVY | | | - | 53 | 64 | 50 | 19 | 14 | 200 | US\$ 19.94 | US\$ 3,988. |

Printed: 16 September 2025 - 10:27:45

Reg Office: 2nd floor 10-11 Greenland Place London NW1 0AP. United Kingdom Reg No: 06568630 VAT No: 937908185 EORI: GB937908185000 / ATEOS10001095

CHINTI & PARKER

E: info@chintiandparker.com T: 02070164312 www.chintiandparker.com

| W25 | | | | | | | | | | | | | |
|-----|-------------------|----------------------|---------------|-------------|----|----|----|----|----|----|-----|--------------------|---------------|
| | KPS2321 | 12GG 90% W0 / 10% WS | Delivery From | Delivery To | XS | S | М | L | LL | 3L | Qty | First/Make Cost | Total Cost |
| | RELAXED ROLL NECK | BONE | | | - | 30 | 44 | 38 | 18 | 20 | 150 | US\$ 23.31 | US\$ 3,496.50 |
| | KPS2321 | 12GG 90% W0 / 10% WS | Delivery From | Delivery To | XS | S | М | L | LL | 3L | Qty | First/Make Cost | Total Cost |
| | RELAXED ROLL NECK | OLIVE | | | - | 21 | 29 | 26 | 13 | 11 | 100 | US\$ 23.31 | US\$ 2,331.00 |
| | KPS2321 | 12GG 90% W0 / 10% WS | Delivery From | Delivery To | XS | s | М | L | LL | 3L | Qty | First/Make Cost | Total Cost |
| | RELAXED ROLL NECK | TEAL AW25 | | | - | 26 | 38 | 33 | 18 | 15 | 130 | US\$ 23.31 | US\$ 3,030.30 |
| | KPS2321 | 12GG 90% WO / 10% WS | Delivery From | Delivery To | XS | s | М | L | LL | 3L | Qty | First/Make Cost | Total Cost |
| | RELAXED ROLL NECK | BLACK | | | - | 11 | 16 | 14 | 7 | 7 | 55 | US\$ 23.31 | US\$ 1,282.05 |
| Å | KPS2321 | 12GG 90% WO / 10% WS | Delivery From | Delivery To | XS | s | М | L | LL | 3L | Qty | First/Make Cost | Total Cost |
| V | RELAXED ROLL NECK | GREY | | | - | 8 | 12 | 10 | 5 | 5 | 40 | US\$ 23.31 | US\$ 932.40 |
| | KPS2321 | 12GG 90% WO / 10% WS | Delivery From | Delivery To | XS | s | М | L | LL | 3L | Qty | First/Make Cost | Total Cost |
| | RELAXED ROLL NECK | HOT PINK | | | - | 10 | 16 | 13 | 6 | 5 | 50 | US\$ 23.31 | US\$ 1,165.50 |
| | KPS2322 | 12GG 90% WO / 10% WS | Delivery From | Delivery To | XS | s | М | L | LL | 3L | Qty | First/Make Cost | Total Cost |
| | WIDE SLOUCHY | BONE | | | - | 31 | 42 | 35 | 23 | 19 | 150 | US\$ 21.33 | US\$ 3,199.50 |
| À | KPS2322 | 12GG 90% WO / 10% WS | Delivery From | Delivery To | XS | s | М | L | LL | 3L | Qty | First/Make Cost | Total Cost |
| V | WIDE SLOUCHY | GREY | | | - | 8 | 13 | 10 | 5 | 4 | 40 | US\$ 21.33 | US\$ 853.20 |
| 9 | KPS2322 | 12GG 90% WO / 10% WS | Delivery From | Delivery To | XS | S | М | L | LL | 3L | Qty | First/Make Cost | Total Cost |
| | WIDE SLOUCHY | HOT PINK | | | - | 10 | 15 | 12 | 7 | 6 | 50 | US\$ 21.33 | US\$ 1,066.50 |
| Ņ | KPS2322 | 12GG 90% WO / 10% WS | Delivery From | Delivery To | XS | S | М | L | LL | 3L | Qty | First/Make Cost | Total Cost |
| U | WIDE SLOUCHY | NAVY | | | - | 10 | 15 | 12 | 7 | 6 | 50 | US\$ 21.33 | US\$ 1,066.50 |
| | KPS2322 | 12GG 90% WO / 10% WS | Delivery From | Delivery To | XS | s | М | L | LL | 3L | Qty | First/Make Cost | Total Cost |
| | WIDE SLOUCHY | TEAL AW25 | | | - | 26 | 33 | 27 | 18 | 16 | 120 | US\$ 21.33 | US\$ 2,559.60 |

CHINTI & PARKER

E: info@chintiandparker.com T: 02070164312 www.chintiandparker.com

Total Qty

7480

CHINTI AND PARKER LTD 10-11 Greenland Place 2nd floor LONDON NW1 0AP United Kingdom

| KPS2322 | 12GG 90% WO / 10% WS | Delivery From | Delivery To | XS | s | М | L | LL | 3L | Qty | First/Make Cost | Total Cost |
|---------------------------|-----------------------------------|-----------------|-------------|---------|---------|---------|----|---------|----------|------------------|--------------------|--------------------------|
| WIDE SLOUCHY | VELVET RED | | | - | 29 | 40 | 32 | 21 | 18 | 140 | US\$ 21.33 | US\$ 2,986.2 |
| KPS2326 | 12GG 90% WO / 10% WS | Delivery From | Delivery To | XS | s | М | L | LL | 3L | Qty | First/Make Cost | Total Cost |
| WIDE LEG TRACK PANT | BONE | , | | - | 33 | 39 | 30 | 23 | 25 | 150 | US\$ 23.95 | US\$ 3,592. |
| KPS2326 | 12GG 90% WO / 10% WS | Delivery From | Delivery To | XS | s | М | L | LL | 3L | Qty | First/Make Cost | Total Cos |
| WIDE LEG TRACK PANT | CLARET | 25 | Daniely 10 | - | 39 | 48 | 36 | 27 | 30 | 180 | | US\$ 4,311. |
| KPS2326 | 12GG 90% WO / 10% WS | Delivery From | Delivery To | XS | s | М | L | LL | 3L | Qty | First/Make Cost | Total Cos |
| WIDE LEG TRACK PANT | GREY | Delivery From | Delivery 10 | - | 9 | 10 | 8 | | 7 | 40 | | US\$ 958.0 |
| KPS2326 | 12GG 90% WO / 10% WS | Delivery From | Delivery To | xs | s | М | L | LL | 3L | Qty | First/Make Cost | Total Cos |
| WIDE LEG TRACK PANT | HOT PINK | Delivery From | Delivery 16 | | | 13 | | | 8 | 50 | | US\$ 1,197. |
| KPS2326 | 12GG 90% WO / 10% WS | Dalikanı Fransı | Delivery | VC | | | | LL | 3L | Otro | First/Make Cost | Total Cos |
| WIDE LEG TRACK PANT | NAVY | Delivery From | Delivery To | XS - | 11 | M 13 | 10 | | 8 | Qty 50 | | US\$ 1,197 |
| KPS2326 | 42CC 009/ M/O / 409/ M/C | D. 17 - 5 | | | | | | | | | First/Make | T / 10 |
| WIDE LEG TRACK PANT | 12GG 90% WO / 10% WS TEAL AW25 | Delivery From | Delivery To | XS - | S 27 | M 35 | 24 | 18 | 3L 16 | Qty 120 | | Total Cos |
| V000704 | 4000 00% N/O / 40% N/O | , | | | | | . | | | | First/Make | |
| KSS2501 RELAXED HOODIE | 12GG 90% WO / 10% WS NAVY | Delivery From | Delivery To | XS | S 12 | M 18 | 9 | LL 6 | 3L 5 | Qty 50 | | Total Cos US\$ 1,254. |
| | | | | | | | | | | | 334 23.33 | ,201 |
| KPS2326 | 12GG 90% WO / 10% WS | Delivery From | Delivery To | XS | s | М | L | LL | 3L | Qty | First/Make Cost | Total Cos |
| WIDE LEG TRACK PANT | VELVET RED | | | - | 27 | 32 | 24 | 18 | 19 | 120 | US\$ 23.95 | US\$ 2,874. |

Printed: 16 September 2025 - 10:27:45

Reg Office: 2nd floor 10-11 Greenland Place London NW1 0AP. United Kingdom Reg No: 06568630 VAT No: 937908185 EORI: GB937908185000 / ATEOS10001095

Total Cost US\$ 129,377.00

TERMS AND CONDITIONS

1. Confidential information shall not be disclosed by the supplier to any third party and may not: A. Use the company's patents, trade marks and design rights for any other party B. Manufacture any goods in the company's designs unless specifically requested to by the company C. Make available any materials or intellectual property rights of the company to any other party 2. If goods are not delivered on the agreed delivery date then without prejudice to any other rights it may have, the company reserves the right to; A. Cancel the purchase order in whole or in part B. Refuse to accept any subsequent delivery of goods which the supplier attempts to make C. Negoiate a discount for deliveries 7 days late and over D. Request Express Delivery to expedite delivery to company's DC E. Claim damages for any additional costs, lost or expenses incurred by the company which in any way are attributable to the suppliers failure to deliver the goods on time 3. Tolerance We accept + / - 5% at our discretion 4. Quality The supplier must ensure that the goods are manufactured to the exact specification detailed in the technical pack or otherwise communicated by the company to the supplier If the suppler is unsure of any of the specifications as detailed in the technical pack or otherwise communicated by the company they are to seek clarification from the company If the goods are not manufactured in accordance with this clause the company reserves its right to cancel the entire purchase order or part thereof and the supplier will be liable for any losses incurred 5. Insurance Any materials issued to the supplier for use in the manufacture of the goods (including all finished goods) are the responsibility of the supplier at all times whist in its possession and the supplier is to ensure that the goods are properly insured 6. Title The goods shall remain at the risk of the supplier until delivery is complete when ownership of the goods shall pass to the company